
A-A ( 1 : 10 )

B-B ( 1 : 10 )

A

A

B

B

  LE 

Skala :  1:50/ 1:10 REV.

DATUM 21.12.2010

NORLEG

Monteringsprinciper

DETALJRITNING

M10 kupolmutter

M10 skiva

M10 skiva

4 st 5x80 mm skruvar

 

Tornhus

Klättersystem

2 st 5x80 mm

skruvar

2 st 5x80 mm skruvar

M10 vagnsbult

M10 kupolmutter

M10 skiva

M10 maskinbult

Ø10 mm

Ø10 mm

2 st 5x80 mm skruvar

2 st 5x80 mm 

skruvar

60: Gangbro til klatresystem og tårn


